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02 QIZAMALER 135,200 112,500 22,700
ONs=ol 252X HeH XA 135,200
< 50,700
Al 84,500
s9I| BI22S 24 U 22,500 22,500 0
< 4,800
Al 17,700
307 BI2t0| & 22,500 22,500 0
< 4,800
Al 17,700
02 DI A AALE R 22,500 22,500 0
OsHI ZS34 LAY
2,250,000 * 107H 4 22,500
< 4,800
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SH ==
M sMAMEN U SEASH N
ol SHAMEX (el @2)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
-SE8sEX 5,100,000& =+ 5CH 25,500
-SdsEx 4,600,000& =+ 2CH 9,200
-esgEgx 9,200,000& * 1CH 9,200
-Sgs sk 5,100,000& = 2304 117,300
-HEstExt 7,300,000& * 2CH 14,600
-SEE=I 5,100,000& * 11CH 56,100
-HEE=X 7,300,000& * 1CH 7,300
401 A& HIZ 201 Y] 1,300,000 0 1,300,000
= 1,000,000
=) 300,000
01 A& HI 1,300,000 0 1,300,000
Osgousa 28 2 =1 =4 SA 1,300,000
—sgolusa A 1,300,000
= 1,000,000
=) 300,000
405 TtobH S| 13,300 23,045 A9Q,745
01 AL EZFH S 13,300 23,045 N9,745
OFUWAE HS 7¢ 13,300
-HEd®n 2,800,000& =« 2CH 5,600
-3 JtAEE 3,000
-2+ =2dX 1,100
—a7 22| 2,500
=1 1,100
sX0l82cl ZAHA el 24,450 24,450 0
= 22,885
Al 1,565
101 @124l 21,320 21,320 0
= 21,320
04 JI2ZtHZ22HEE = 21,320 21,320 0
Oskolgze A3 =0 21,320
-S¢ 13,831
= 13,831
-3 7,489
= 7,489
201 €24l 3,130 0 3,130
= 1,565
Al 1,565
01 AF2 22l 3,130 0 3,130
OsXolg2el 24l 3,130
= 1,565
Al 1,565
=Xl z2tel 35,750 12,200 23,550
201 Let2dE] 33,350 9,100 24,250




SN mEAD
M sMAMEN U SEASH N
Sl SHABEX CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 At 22l 33,350 9,100 24,250
OEHEE EL2E S A
1,150,000& * 153 17,250
OSE&E=Q FHYXUZ 550,000& * 23] 1,100
OsgdEXNY NEEHFH
15,000,000 * 14! 15,000
202 odl 2,400 3,100 A700
01 = LH o4 1l 2,400 3,100 A700
OsXZel d2F& ol 600,000& » 4H 2,400
NEE AE e X&E 13,652,912 7,329,620 6,323,292
= 11,337,212
< 315,925
Al 1,999,775
EONIU L E=DNDY PR 6,000 10,000 A 4,000
307 21201 A 6,000 10,000 A 4,000
02 It S AMHEL 6,000 10,000 A 4,000
OZaHlY 7Yl X8
500,000& = 40ha * 30% 6,000
DNEZE & AgHEX =24 28,030 30,000 21,970
< 9,280
Al 18,750
307 21201 A 28,030 30,000 21,970
< 9,280
Al 18,750
02 LB AAFEX 28,030 30,000 21,970
OLNSE & MMl =d 28,030
< 9,280
Al 18,750
Jlsd & THHHE X =4 2,800 4,200 A 1,400
< 800
Al 2,000
307 gl2tol & 2,800 4,200 A 1,400
< 800
Al 2,000
02 It M AHE X 2,800 4,200 A 1,400
OJlsd & THHHEX =4 2,800
< 800
Al 2,000
HEJIHBHERI = A 10,800 10,800 0
< 4,050
Al 6,750
307 glz2+ol & 10,800 10,800 0
< 4,050
Al 6,750




2N
X ZH -
L= B

el

-
Jn
0
=
e

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
02 It M AHE L 10,800 10,800 0
Ot =J1 MHEHEX =4
750,000& = 18ha * 80% 10,800
< 4,050
Al 6,750
H gdis 3s2H XNE(ZHEX) 40,000 30,000 10,000
< 12,000
Al 28,000
206 M= Hl 40,000 30,000 10,000
< 12,000
Al 28,000
01 =8l 40,000 30,000 10,000
Ol gals SsLM s L (SLYRHIM
sgYs S) 100,000& * 400ha 40,000
= 12,000
Al 28,000
H gois SSLH XN (MHAHE) 400,000 400,000 0
206 M= Hl 400,000 400,000 0
01 =8l 400,000 400,000 0
Obf gols SsYM =47 (SILLNH2IA
sSgYs) 100,000& = 2,000ha * 23| 400,000
H SR e ¥ & X 12,000 50,000 /38,000
402 RI2HX20l ™ 12,000 50,000 238,000
01 212t 2 AL E = (REMTH ) 12,000 50,000 A.38,000
OH SRE HE> & ZHIES 12,000
H S A JAAY 872,000 1,215,000 A 343,000
301 LEMZ 872,000 1,215,000 A 343,000
12243 872,000 1,215,000 A 343,000
OH s2Hl X 872,000
H Milsot 2 E Ttz X2 484,790 800,000 A 315,210
< 242,395
Al 242,395
301 LEAS 484,790 800,000 A 315,210
= 242,395
Al 242,395
12 JIEtE4 3 484,790 800,000 A 315,210
Ol MHlsIit B2Eetd Nz N 484,790
= 242,395
Al 242,395
REsXEE UFE WX 17,280 26,460 29,180
307 giz2tol & 17,280 26,460 29,180
02 ItFAAHEX 17,280 26,460 A9,180




2N
X ZH -
L= B

el

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
O=<ecly, 2elsX, HE7gds N2
360,000&  80ha * 60% 17,280
=9 OHMALE EHl K& 36,000 52,000 216,000
< 6,000
Al 30,000
206 M= Hl 36,000 52,000 216,000
< 6,000
Al 30,000
01 =8l 36,000 52,000 216,000
O=< otdALE ZHIXJ(ZHE) 36,000
< 6,000
Al 30,000
H gdis 3sLH s&d gz I (ZHEX) 60,000 100,000 A 40,000
< 18,000
Al 42,000
307 glz2+ol & 60,000 100,000 A 40,000
< 18,000
Al 42,000
02 RIZFE MM E X 60,000 100,000 A 40,000
Ol dols Z2s2H =& A= 60,000
< 18,000
Al 42,000
H gols 2s2H s&2g s N (KAL) 180,000 100,000 80,000
307 21201 A 180,000 100,000 80,000
02 LB AAHEX 180,000 100,000 80,000
O Bols Z2s2M =&Y A=
120,000& * 1,500ha 180,000
= EHES TR (Y MAZTIH) ALY 340,000 408,000 268,000
= 272,000
< 20,400
Al 47,600
301 LPEXF 340,000 408,000 A 68,000
= 272,000
< 20,400
Al 47,600
12 JIEtE 43 340,000 408,000 268,000
O=EIXSTUH (B MAZTHHN )X 2 AL
3,400,000& * 100ha 340,000
= 272,000
< 20,400
Al 47,600
DNEZE & M Heg N2 90,000 120,000 230,000
301 LPEXS 90,000 120,000 30,000
12 JIEtE4 3 90,000 120,000 230,000




N sE&N
=K

M sMAMEN U SEASH N
Sel: DBE A MM X (B9 ®R)
. _ = SfE|
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
O1ES & 44 Za= NAAY
33,0008 = 60,000 * 50% 90,000
A MALFXA J|BEEA ALY 8,000 8,000 0
= 3,000
Al 5,000
307 2Iz2t0| & 8,000 8,000 0
= 3,000
Al 5,000
02 QIZHEAAIRE E X 8,000 8,000 0
OM MNZXH JBX AY
2,000,000& = Bha * 80% 8,000
< 3,000
Al 5,000
22 (0|2d") AEMAIY 22|d] 65,212 0 65,212
= 65,212
101 e1214| 15,000 0 15,000
= 15,000
04 JI2ZtHIZ22NEES 15,000 0 15,000
OFMS U BHEA S o2 oAy 15,000
= 15,000
201 LBt Y| 35,212 0 35,212
= 35,212
01 AP 22| d| 35,212 0 35,212
OZUNESNMY =X ALEE 7Y L 29
3 SYHl S 35,212
= 35,212
202 o4 | 15,000 0 15,000
= 15,000
01 2Ll 15,000 0 15,000
OZ29UZEMAY EXNEZAHY EEE EF0H|
300,000& * 503 15,000
= 15,000
22 (JI2d) MNENAY NEZ 11,000,000 0 11,000,000
= 11,000,000
301 et A= 11,000,000 0 11,000,000
= 11,000,000
12 JIEtE2 A= 11,000,000 0 11,000,000
OB(OI2E) NEHAY RS
2,750,000 * 4,000ha 11,000,000
= 11,000,000
Metd =g sS4 2 A Ay HAHME A5 3,108,258 3,610,090 A 501,832
= 727,000
= 279,614
Al 2,101,644
XEtdsd |4 270,000 311,500 A 41,500
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14,500
23,000

17,500

A 56,000
A 56,000

A 44,544

A 44,544

44,544

230,000

230,000
A 30,000

26,282

26,282

H3r
Wikd
RIS

2,000
2,000

85,500
5,500

80,000

224,000
224,000

164,944

164,944

164,944

332,600

12,600
12,600

320,000
320,000

883,718

883,718

0l &t o

2,000
2,000

2,000

100,000
2,500

2,500
97,500

97,500

168,000

168,000

140,000
28,000
120,400
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81,760
120,400
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120,400
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38,640
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H
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H

Al

12,600
12,600

12,600

290,000

290,000

110,000
180,000
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SN =EAD
B SHANMEN U SELSH Y
ol e s9 R4 QM A AW U3
SH - BAEA) - MRAY - BES Of &t o il
02 I BAAMAEE 910,000 883,718
OKRJIIEHIE XA 910,000
= 560,000
Al 350,000
RIEHE N (ZHEX) 217,150 217,150
= 48,150
Al 169,000
307 212t0l & 217,150 217,150
= 48,150
Al 169,000
02 QB AAMNPE X 217,150 217,150
ORJIEHIZE KNEHAE 217,150
S 48,150
Al 169,000
ESHEH K& 146,678 146,678
= 98,000
Al 48,678
307 212t0l & 146,678 146,678
= 98,000
Al 48,678
02 (I BAAMHEE 146,678 146,678
OELNEM 2= 146,678
= 98,000
Al 48,678
HEIsYH= 50,000 50,000
= 50,000
301 LEIEA = 50,000 50,000
= 50,000
12IIEtE2d= 50,000 50,000
OxeZsg HEll= 50,000
= 50,000
ESsdsE ASEH HEXNEM 2,000 2,000
== 1,000
Al 1,000
301 LetEA = 2,000 2,000
= 1,000
Al 1,000
2IJ243 2,000 2,000
OEEstts BEE=s4 2 X& 2,000
= 1,000
Al 1,000
deddtisey SZALEH 2 2,000 2,000
< 1,000
Al 1,000
201 fet23E | 2,000 2,000




SN SEAD
MY SHAMEN U sELASH Y
ol MEY S 84 UM MY M B (sl &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 1,000
Al 1,000
03 &Ar2 I 2,000 2,000 0
OEZ dH=s2 d¥EHLEH 29 2,000
< 1,000
Al 1,000
detdsgy 32X B2 8,400 3,600 4,800
= 1,680
Al 6,720
201 et 8,400 3,600 4,800
< 1,680
Al 6,720
01 At 2teltl 8,400 3,600 4,800
Oz azdsgy 32X B2 8,400
< 1,680
Al 6,720
HIsSTM X3 40,000 40,000 0
= 16,000
< 7,200
Al 16,800
307 gl2tol & 40,000 40,000 0
= 16,000
< 7,200
Al 16,800
02 IZHE M AHE X 40,000 40,000 0
ORIIsLAM X& AL 40,000
= 16,000
< 7,200
Al 16,800
Al At 5,790 8,040 A 2,250
201 LBt 3,290 3,840 A 550
01 At 22l 3,290 3,840 A 550
Ol Holls2M 823 4 =&
70,000& = 10Y = 23] 1,400
OHlzAlz MFE ST M S
5,000& = 1000H 500
Ol HeEss d&8 823 =&
70,000& = 129 = 13 840
OAMMZZ a0t HA 550002 * 1004 550
202 (4 Hl 2,400 4,200 A 1,800
01 = LH 4 HI 2,400 4,200 A 1,800
OalEst AR =2 600,000 » 4H 2,400
310 2201 & 100 0 100
02 2HFE= 100 0 100
O=H FAO 23 100
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A 156,120
A 156,120

A 156,120

23,500

/30,000
/30,000

230,000

H3r
Wikd
RIS

846,720
846,720

846,720

11,500

3,000

3,000

4,000
4,000

1,000

1,000

8,640

8,640

8,640

10,000

10,000
10,000

60,000
60,000
60,000

Off &t 24

690,600
690,600

690,600

690,600
8,000
3,000
5,000
3,000
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3,000
3,000
3,000
4,000
4,000
4,000

fir

Al
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8,640
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6,696
8,640
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X ZH -
L= B

el

O Of

ro0x M

0 =z
ne

=z o
o
=9 54

|
AL

o
He
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S g
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I A
e oo

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
207 & O] 6,000 6,000 0
01 284 6,000 6,000 0
Ootzdel ZHECOXC e 6,000
=M MEH=Z ZY HE 280,000 0 280,000
< 180,000
Al 100,000
307 glz2+ol & 280,000 0 280,000
< 180,000
Al 100,000
02 QB HAANEEE 280,000 0 280,000
O=2HM dEH=g Z& M=l 280,000
< 180,000
Al 100,000
S 3 LF 8,169,756 7,493,897 675,859
= 1,699,856
J| 638,105
< 1,478,290
Al 4,353,505
HE A =9 A3 3,695,817 3,655,808 40,009
= 162,880
J| 416,375
< 658,246
Al 2,458,316
HHMEE X 168,000 31,500 136,500
J| 48,000
= 36,000
Al 84,000
402 RI2tXt20l ™ 168,000 31,500 136,500
J| 48,000
< 36,000
Al 84,000
02 2IZt 2 AL EZ (01X THS) 168,000 31,500 136,500
OHUHIMEEX NJAAL
100,000& = 2,400 * 70% 168,000
J| 48,000
< 36,000
Al 84,000
IE2L HHIAEZH X2 168,750 168,750 0
J| 84,375
< 25,312
Al 59,063
307 21201 A 168,750 168,750 0
J| 84,375
< 25,312
Al 59,063
02 QIAHFAAHEX 168,750 168,750 0




SA sEA4D
=4

a4 B L
e JIEs AIEIIBE =4 23 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
O3 dHlaxZH X
250,000 = 675ha 168,750
J| 84,375
o=t 25,312
Al 59,063
IEEx SE2Y3)| ANSAY 160,000 112,500 47,500
& 80,000
Al 80,000
402 BI2H X 20| M 160,000 112,500 47,500
= 80,000
Al 80,000
02 CIZEXIEANSE X (0| XM THL) 160,000 112,500 47,500
Os2r =2 ¢330 N 160,000
=} 80,000
Al 80,000
IEESR AF M2 AIEEH XNAY 104,200 210,000 A 105,800
& 4,200
Al 100,000
402 SI2FXHE0| & 104,200 210,000 A 105,800
& 4,200
Al 100,000
02 BIZtXIEANYEX(0OIETHHA) 104,200 210,000 A 105,800
ONEEL 9FHHMHZ AMAEH X 104,200
= 4,200
Al 100,000
IIEE2EH| JIH &Y XA 60,000 0 60,000
o= 30,000
Al 30,000
402 SI2FXHE0| ™ 60,000 0 60,000
= 30,000
Al 30,000
02 QIZEXIEAIS E X (0| XM THLH) 60,000 0 60,000
OJIEZEI8] JIAHEY KNI AS 60,000
& 30,000
Al 30,000
EMsI 2 S2XA 108,000 72,000 36,000
402 SI2FXHE0| M 108,000 72,000 36,000
01 SIZEXIEANYEXR (MMM A) 108,000 72,000 36,000
OF4asIE AER2H XN 108,000
95 o AFHMHZIM XN 75,000 75,000 0
307 gizto| & 75,000 75,000 0
02 QIZ2IA AAIE E X 75,000 75,000 0
OUEE B2 AFMZHM XNIJAE
5,000& =* 30,000kg * 50% 75,000
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EAN: sS4t
a4 B L
e JIEs AIEIIBE =4 23 (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
FosIF SFEX OHA 245,000 392,286 N 147,286
== 45,000
Al 200,000
301 et A= 245,000 392,286 N 147,286
o= 45,000
Al 200,000
12 JIEtE A2 245,000 392,286 N 147,286
OFosIF 2HFEX HEALE 245,000
& 45,000
Al 200,000
IEE: =2X2&8NM & 395,000 344,880 50,120
& 95,000
Al 300,000
301 et A =2 395,000 344,880 50,120
& 95,000
Al 300,000
2 JEtE A= 395,000 344,880 50,120
ONERE +2EEH NAY
158,000 = 5,000 * 50% 395,000
= 95,000
Al 300,000
=2y AFHMH2Y OIMSHH(Z=E) 51,000 51,000 0
307 2iz2to| A 51,000 51,000 0
02 QIZ2IAAAIE E X 51,000 51,000 0
OJNEE 4FMZ OMZ MM KRAS
5,000& * 17,000kg * 60% 51,000
SSNHEASAE AFHMZH 2L XA 100,000 96,000 4,000
206 M = Hl 100,000 96,000 4,000
01 X2 H| 100,000 96,000 4,000
OZ2SNHAASIAAE AFH2H 2L
5,000& * 20,000kg 100,000
= A 235 X 170,000 200,000 A 30,000
307 S12t0| & 170,000 200,000 A 30,000
02 QIZHB AAIE 2 X 170,000 200,000 A 30,000
OMds™E 2= H XNEAY
400,000& = 1,700 * 25% 170,000
SAAIE ESHINSL AIE 18,000 22,260 A4 260
& 3,000
Al 15,000
402 SI2F 20| & 18,000 22,260 A4 260
=} 3,000
Al 15,000
02 QIZtXIE A E X (0| XM THSH) 18,000 22,260 N4, 260




2N
X ZH -
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el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OFMAIE SZME X
1,500,000&  24CH * 50% 18,000
= 3,000
Al 15,000
HAS X2l K& 45,000 36,000 9,000
< 9,000
Al 36,000
402 2I2H X201 M 45,000 36,000 9,000
< 9,000
Al 36,000
01 2I2F 2 A B (RERTH ) 45,000 36,000 9,000
OJ= HA= ™Meldl K&
30,000,000& = 3CH * 50% 45,000
< 9,000
Al 36,000
Jt=THoll 2 & 264,000 188,000 76,000
< 88,000
Al 176,000
301 LB AF 264,000 188,000 76,000
< 88,000
Al 176,000
12 JIEtE &= 264,000 188,000 76,000
OJXNETHHEE AL
8,000,000& = 110= * 30% 264,000
< 88,000
Al 176,000
ZGHFHAISZ HAS2ZHM K& 30,000 40,000 210,000
206 M= Hl 30,000 40,000 210,000
01 =8l 30,000 40,000 A 10,000
OFZFHAINE HASLM N
10,000& * 3,000% 30,000
S&=sIt AAZ2E IR K& ALY 38,400 44,628 A6,228
< 19,200
Al 19,200
307 21201 A 38,400 44,628 A6,228
< 19,200
Al 19,200
02 IAtFAAFE R 38,400 44,628 26,228
OsdsIt A=2EIH X & 38,400
< 19,200
Al 19,200
ZAE0 D AEYA Y XRA 30,000 12,000 18,000
< 12,000
Al 18,000
402 2I2H X201 A 30,000 12,000 18,000
< 12,000
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EAN: sS4t
a4 B L
e JIEs AIEIIBE =4 23 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
Al 18,000
02 BIZtXIEANYEX(0OIETHHA) 30,000 12,000 18,000
OFAsIF 02 AEYHA g dH X3
5,000,000& * 12CH * 50% 30,000
= 12,000
Al 18,000
AT 23 N 11,850 3,250 8,600
201 LBt ]| 2,100 1,000 1,100
01 AP 22| H| 2,100 1,000 1,100
Ol sS&t=sIF HHl 2R K&
700,000 * 33| 2,100
206 M = H| 2,250 2,250 0
01 X2 H| 2,250 2,250 0
OMdll s8I 202 XA XIS
750,000 * 33| 2,250
301 et A= 7,500 0 7,500
12 JIEtE A& =2 7,500 0 7,500
OHAMNS dEHEH XS AE
1,500,000& = 108 * 50% 7,500
2ol =20UEANSUHE 109,500 109,500 0
= 8,000
Al 101,500
201 et | 3,000 3,000 0
01 A2t 2| bl 3,000 3,000 0
OAI CHEEE DI 3,000
301 et A= 52,600 52,600 0
12 JIEtE2 A= 52,600 52,600 0]
Odl&d=2eIEAMNSUHE &2 52,600
307 QI2t0| ™ 53,900 53,900 0
= 8,000
Al 45,900
04 CIZ2tSHALALS B X 53,900 53,900 0
OdHAE=Z0EANSUS S A 53,900
& 8,000
Al 45,900
MNEA 84 XA 15,300 25,500 A 10,200
307 2Iz2to| & 15,300 25,500 A 10,200
02 DIZFEAAIRE E X 15,300 25,500 A 10,200
OMEA AM2H KEFAY
85,000& = 305 * 128 * 50% 15,300
StM SOMME XISAFY 115,200 158, 220 A 43,020
= 89,280
= 25,920
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- Y- C2(EA) - A

01
o

=

i
2m

o

115,200

89,280
25,920

168,220

A 43,020

H H

115,200
115,200

89,280
25,920

168,220

A43,020

LHEEXEH XE ALY

= H W

7,200
3,600
1,080
2,520

8,000

A 800

307 clztol &

= N H

7,200
3,600
1,080
2,520

8,000

A 800

02 QB AAMNLEE

=]
OLEEX Y

A& 40,0003 * 30090 * 60%

= N H

7,200
7,200

3,600
1,080
2,520

8,000

A 800

S PRML ALY

= M

43,000

17,200
25,800

31,060

11,940

402 212t X201 &

M

Al

43,000

17,200
25,800

31,060

11,940

02 It HEALHE X

TR ALY

OgL=Lel REIMN AL

(Ol TH&)

HEFE S 50,000 *1,0009H *50%

H

Al

M2 XM&ED 6,000,000 «6CH «50%

H

Al

43,000

25,000

10,000
156,000

18,000

7,200
10,800

31,060

11,940

02

40,000

40,500

A 500

40,000

40,500

A 500

o
Ogsd 4 (a= X&)

8,000& = 10,000kg * 50%

40,000

40,000

40,500

A 500

Al

8,400

3,360
5,040

8,400

H

Al

8,400

3,360
5,040

8,400
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02 QI EASEZ (OIS ) 8,400 0 8,400
Oz ed BEAL XJAY
12,000& = 1,400&€ * 50% 8,400
< 3,360
Al 5,040
NgEol & SHM 5,225 10,450 N5, 225
402 QIZ2HXHE01 M 5,225 10,450 A5,225
01 2I2E 2 A B (KR 5,225 10,450 N5,225
oxgol ¢y =4 5,225
— Eldl& 20| 10,450,000& = 1CH * 50% 5,225
o2 Mabd grah 2 Al XHEE XT3 AHY 7,440 4,880 2,560
< 1,488
Al 5,952
307 21201 A 7,440 4,880 2,560
< 1,488
Al 5,952
02 It S AIHE L 7,440 4,880 2,560
OAIXHEE I EHE XT3 A
80& =+ 186,00000 = 50% 7,440
< 1,488
Al 5,952
AFEZSMSAE XAY 5,000 0 5,000
< 1,200
Al 3,800
402 RI2HXt20l 5,000 0 5,000
< 1,200
Al 3,800
02 It 2 AL EZ(OI XM THS) 5,000 0 5,000
OREZE MSAE XA
=2SALZ U E Dl 10,000,000 = 1CH x50% 5,000
< 1,200
Al 3,800
=4y &S 2,400 2,800 A 400
202 (44l 2,400 2,800 A 400
01 SLHOIYI 2,400 2,800 A 400
O=4g oo, sEM F& 0
600,000& * 44 2,400
ERNONE 12,000 20,480 A 8,480
201 L2l 9,600 13,300 A 3,700
01 At 22l 9,600 13,300 A 3,700
OJIEt=EH| 9,600
—S4sIt WE W oM
3,000& = 1002 = 3=l 900
—SHAY EES 2l 1,500& = 1,000% 1,500
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=4

a4 B L
S Jts A1 24 2 e (&)
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- SMAM 22 9 WA
55,000& = 100H 550
-ENUN M4REYE BMLY
70,000& * 5% « 33l 1,050
- FMsIH WE BAY
200,000& = 3H =« 23| 1,200
- SMXE g2 FE SAH(A MHSUHE S
) 8,000& = 5% » 60 2,400
-2t013tE A Xz 2,000
202 044l 2,400 2,800 A 400
01 = LH o4 1l 2,400 2,800 A 400
OFHXN3HE =& ol 600,000& = 4H 2,400
= EAHHIE XJ A 60,000 36,000 24,000
J| 30,000
< 9,000
Al 21,000
402 RI2EXt20| N 60,000 36,000 24,000
J| 30,000
< 9,000
Al 21,000
02 QI 2 A EZ (01X TH ) 60,000 36,000 24,000
ON=EER EHHIS XA
30,000,000& = 504 * 40% 60,000
J| 30,000
< 9,000
Al 21,000
SSNHES HES(LFM2ZAE) XA 350,000 0 350,000
J| 200,000
< 45,000
Al 105,000
402 RI2HXt20l M 350,000 0 350,000
J| 200,000
< 45,000
Al 105,000
02 212t 2 AL EZ(OI X THS) 350,000 0 350,000
OZSSXs HES(AFMZAIE) NE AL
500,000,000& = 1JHA = 70% 350,000
J| 200,000
< 45,000
Al 105,000
F4 ADEE SEHOHAIAE E2EJ|= AMEAMY 60,000 0 60,000
= 60,000
402 RI2HXt20l M 60,000 0 60,000
= 60,000
02 2IZt 2 AL EZ (OIS ) 60,000 0 60,000
O=4 ADEE SEHMAHAIAE EZ)= AlE 60,000
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| = 60,000
ADLE 28 JIs23 AMEAY 10,000 0 10,000
= 10,000
402 2I2H X201 M 10,000 0 10,000
= 10,000
02 QI E2AS EZ (01X THS) 10,000 0 10,000
O20tE &80l 25 ANEAE 10,000
= 10,000
ZMNEE JIAFE(HE SO XA 151,340 60,252 91,088
< 45,402
Al 105,938
402 RI2EX =20l A 151,340 60,252 91,088
< 45,402
Al 105,938
02 LA TEALEZ(0IETHR) 151,340 60,252 91,088
OMEsIH ZALE M&E JIAEH X2 161,340
< 45,402
Al 105,938
EMNEE BEXNTY N ALY 126,000 105,000 21,000
J| 54,000
= 21,600
Al 50,400
307 21201 A 126,000 105,000 21,000
J| 54,000
< 21,600
Al 50,400
02 It S AMHEL 126,000 105,000 21,000
OXAE M8 S X 126,000
J| 54,000
= 21,600
Al 50,400
&SI HAH =Mz 2 XN& 45,000 45,000 0
307 glz2tol & 45,000 45,000 0
02 PIZHE M AHE L 45,000 45,000 0
OZS=It A =AME 2LH XA
30,000& = 3,000& * 50% 45,000
SAH 2012 XA 40,000 70,000 230,000
402 RI2HX20| N 40,000 70,000 30,000
01 2I2F 2 A E = (KM 40,000 70,000 /30,000
O=AL &01& XI& A
400,000& = 200CH = 50% 40,000
st =3e 0l4 XNJAY 15,000 15,000 0
307 21201 A 15,000 15,000 0
02 UAFLAFEX 15,000 15,000 0
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SEEEEENY
300,000& = 1005 * 50% 15,000
NEE 84y =4 61,600 61,600 0
< 13,320
Al 48,280
307 gl2tol & 61,600 61,600 0
< 13,320
Al 48,280
02 IZtEHAHE L 61,600 61,600 0
Ot RSSEAY 51,600
< 10,320
Al 41,280
Ost M SAL 10,000,000& * 1JH £ 10,000
< 3,000
Al 7,000
ste =33 XN& 20,000 72,000 A52,000
307 21201 A 20,000 72,000 A52,000
02 It S AIHE L 20,000 72,000 252,000
OsteelE+=EE NI AY
40,000 = 1,250 * 40% 20,000
st X2 AAY 8,000 0 8,000
307 21201 A 8,000 0 8,000
02 HAFAAFEX 8,000 0 8,000
Ost2 ZXH(DNA) 24 ALY
20,000& = 1,000L * 40% 8,000
SOtR Matd SHaFALY 10,752 0 10,752
< 3,584
Al 7,168
307 21201 A 10,752 0 10,752
< 3,584
Al 7,168
02 LB AANFEX 10,752 0 10,752
OSO0HAl datd ghah At 10,752
< 3,584
Al 7,168
S OFXI 8 AtOHE AHY 8,000 25,000 A 17,000
301 LeHEBAF 8,000 25,000 A 17,000
12 JIEtE& = 8,000 25,000 A 17,000
OSO0LXI & AHOHE ALY 10,0002 * 8005 8,000
RAsE S A 17,360 17,360 0
= 3,220
Al 14,140
307 glz2tol & 17,360 17,360 0
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< 3,220
Al 14,140
02 IZtE M AHEE 17,360 17,360 0
ORASE MHEAY 17,360
< 3,220
Al 14,140
S @l XA 30,000 30,000 0
= 12,000
Al 18,000
307 21201 A 30,000 30,000 0
< 12,000
Al 18,000
02 ItFAAFE R 30,000 30,000 0
OY=d X2AY
2,500,000 « 29 = 128 » 50% 30,000
< 12,000
Al 18,000
NEE 5 44 X 39,500 39,500 0
307 21201 A 39,500 39,500 0
02 QB LA EX 39,500 39,500 0
OLNSE 3R dMAXA 39,500
- REFEN 20,000& = 1,0000H * 50% 10,000
3P AA S MEM
70,000& = 40000 = 50% 14,000
~FEY AL AEK
40,000 = 40000 = 50% 8,000
—StEI A AEYA oY S2AH
1,000& = 15,000kg * 50% 7,500
R M ZAZ X 30,000 10,000 20,000
301 LEAZ 30,000 10,000 20,000
12JEEd= 30,000 10,000 20,000
OfK M Hedg XN 10& = 3,000,000kg 30,000
S SUEUE XNIAY 400 4,000 A 3,600
< 160
Al 240
307 21201 A 400 4,000 A 3,600
< 160
Al 240
02 QIAFAAFEX 400 4,000 A 3,600
0S4 ENSIE XA 400
S 160
Al 240
s==X 23 & 315,680 261,645 54,035
= 31,280
< 81,576
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Al 202,824
Rlles HHES 22/H] 160,000 160,320 A 320
< 40,000
Al 120,000
201 LB-2d| 160,000 160,320 A 320
< 40,000
Al 120,000
01 At 2t 2l 160,000 160,320 A 320
Rllse HdE2s 2eltl 160,000
= 40,000
Al 120,000
2020 =43 A Y 102,000 45,000 57,000
= 30,000
< 36,000
Al 36,000
301 LPEXF 102,000 45,000 57,000
= 30,000
< 36,000
Al 36,000
12 JIEtE 43 102,000 45,000 57,000
OZ1A0l 43 ALY 102,000
= 30,000
< 36,000
Al 36,000
OFM ()M 2332 ALY 30,000 25,000 5,000
< 5,000
Al 25,000
301 LEd = 30,000 25,000 5,000
< 5,000
Al 25,000
12 JIEBHE4 = 30,000 25,000 5,000
OOtM(E) 233 A
300,000& * 1005 30,000
< 5,000
Al 25,000
BleisS =SS ALY 13,930 12,225 1,705
201 L2l 2,930 4,825 A 1,895
01 At 22l 2,930 4,825 A 1,895
O==SEMAY E2=2 M&E S 2,930
-S2SEZT MH 825% = 2,0000H 1,650
~SSSENDA, oA 0
70& * 4,0000H 280
-SESE 8% A 50,000& = 200K 1,000
301 LEdZ 11,000 7,400 3,600
12243 11,000 7,400 3,600
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Os2s=0g+48
L& 10,0008 = 8005 + 2/ & 3,000& * 1,0 11,000
005
FIle=S L2H XNJ3AS 3,200 5,000 A 1,800
= 1,280
< 576
Al 1,344
301 LEPEXZ 3,200 5,000 A 1,800
= 1,280
< 576
Al 1,344
12 JIE24 =3 3,200 5,000 A 1,800
FIsS L2Hl NI ALY 3,200
= 1,280
< 576
Al 1,344
sy 6,550 14,100 AT7,550
201 Let24d] 750 0 750
01 At 22l 750 0 750
OZEIZN 222 MA S 50,000& * 150H 750
202 O4dl 1,800 2,100 A 300
01 = LH 4 bl 1,800 2,100 A 300
Oss:Es ¥ o & QFFN Ol
600,000& » 3H 1,800
206 M= Hl 4,000 12,000 A 8,000
01 M= 4l 4,000 12,000 A 8,000
ORIA(SEMN) ZEE 72 400,000& » 1004 4,000
Sis S22l 577,540 714,080 A 136,540
J| 158,040
< 52,712
Al 366,788
SNE BHE S4HIR 156,000 264,000 A 108,000
202 oddl 1,000 1,000 0
01 = LH o4 1l 1,000 1,000 0
OBNE SUC 22, AHSX 1 2S
| 20,0003 = 5% = 10 1,000
307 glz2tol & 155,000 260,000 A 105,000
02 It MAMHEE 155,000 260,000 A 105,000
OtEdE =13l OIXXI&
1,500,000,000& * 2% 30,000
OEYE &2 2+52 Hds NEAY
150,000& * 5005 75,000
OEME 2¥E E2XH
50,000,000& = 2JH A = 50% 50,000
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HACCP =&tsot & S HE X2 AY 3,000 12,000 A9,000
< 900
Al 2,100
402 2I2H X201 M 3,000 12,000 A 9,000
< 900
Al 2,100
02 2IZE 2 A EZ(OI XM TH ) 3,000 12,000 A9,000
OHACCP =8tsot & S E X3 ALY 3,000
< 900
Al 2,100
stues 24X 200,000 250,000 A 50,000
J| 120,000
< 24,000
Al 56,000
307 glz2tol & 200,000 250,000 A50,000
J| 120,000
= 24,000
Al 56,000
02 HAFHAANGFEE 200,000 250,000 A 50,000
Ostues s4A 200,000
J| 120,000
< 24,000
Al 56,000
A OIF=FA 76,080 84,720 A 8,640
J| 38,040
< 11,412
Al 26,628
307 21201 A 76,080 84,720 A 8,640
J| 38,040
= 11,412
Al 26,628
02 It S AIHE L 76,080 84,720 A 8,640
OAl10J OlEx=8H At 76,080
J| 38,040
< 11,412
Al 26,628
BYE F4E ZEW X 12,000 36,000 A24,000
< 2,400
Al 9,600
307 glz2+ol & 12,000 36,000 A24,000
< 2,400
Al 9,600
02 It M AHE X 12,000 36,000 224,000
OBdE 428 ZTEMW X 12,000
< 2,400
Al 9,600
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
SME =2 XNEAY 25,000 34,100 A 9,100
= 10,000
Al 15,000
307 gl2tol & 25,000 34,100 29,100
= 10,000
Al 15,000
02 It HAHE L 25,000 34,100 A 9,100
OFUE ==X E MY 25,000
= 10,000
Al 15,000
SAS AYZA 13,460 19,760 26,300
201 LBt 11,060 16,960 5,900
01 At 22l 9,000 14,900 25,900
OFHE =H03 A & ZJEHA A= 1,000
OADIZEZHA =2 70,000& = 100A 7,000
OFUE =HTAL & A4S Al S LI=HI
250,000& » 49H 1,000
02 3322l 2,060 2,060 0
OJlgEsa & 2EsME HII 1,400
— QLA Al & 100,000& * 25 200
-2 ¥ 2¢-&EH &XE  400,000& * 204 800
- EIRlE =¥ 100,000& = 2H =« 23| 400
ORZF =42 Heldl 330,000& * 23 660
202 oddl 2,400 2,800 A 400
01 = LH o4 1l 2,400 2,800 A 400
ORZE, =2 s&= & & =HZA Ol
600,000& * 4% 2,400
SUHSTHHS A AAMAEMHE XA 12,000 12,000 0
< 4,000
Al 8,000
402 RIZEX20l A 12,000 12,000 0
= 4,000
Al 8,000
02 LA TEALEZ(0IETHR) 12,000 12,000 0
OSUUS BB AMAIEHE XA 12,000
< 4,000
Al 8,000
ol =M X 80,000 0 80,000
307 giz2tol & 80,000 0 80,000
04 DIZFSHAIAIRI 2 = 80,000 0 80,000
OUMHSRXER HAKI 80,000
=&Y FHEH 25t 230,650 249,400 A 18,750
< 147,450
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Al 83,200
SUTRHY LI (EEAY) 112,500 112,500 0
< 101,250
Al 11,250
206 M= Hl 112,500 112,500 0
< 101,250
Al 11,250
01 M= 4l 112,500 112,500 0
Ox4ER Y gJIAY 112,500
= 101,250
Al 11,250
W S3H&O0I2) M XA 54,000 54,000 0
< 16,200
Al 37,800
402 RIZER20l ™ 54,000 54,000 0
< 16,200
Al 37,800
02 DIt 2 AL EZ (OIS ) 54,000 54,000 0
Ouz=d =& (I1&) A X 54,000
< 16,200
Al 37,800
= AR 4,150 4,900 A 750
201 Let24dH] 2,150 2,900 AT750
01 At 22l 2,150 2,900 AT750
O=xttE ALK HEAl S E22 MH
3,000& = 2004 600
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